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Name:

Anice cream shop sold 572 chocolate cones and 419
vanilla cones. To the nearest hundred, how many cones did
the ice cream shop sell all together?

On Monday a shipping company sent out 178 boxes. On
Tuesday they sent out another 732 boxes. To the nearest
hundred, what is the total number of boxes they sent out?

A zoologist was checking the weights of two gorillas.
Gorilla A weighed 760 pounds and gorilla B weighed 424
pounds. To the nearest ten, what is the combined weight of
both gorillas?

For anew year's party 238 red balloons and 681 green
balloons were used. To the nearest ten, what is the total
number of balloons used?

At a hotdog eating contest, in the first round 222 hotdogs
were eaten and in round two another 382 were eaten. To
the nearest ten, how many hotdogs were eaten total ?

Lucawas playing his favorite video game. In the first
round he scored 902 points and in round two he scored 675
points. To the nearest hundred, how many points did he
score total ?

A school had 398 red pens and 122 blue pens. To the
nearest ten, how many pens did they have total ?

Over the summer Jakob earned 643 dollars mowing lawns
and another 155 dollars trimming weeds. To the nearest
ten, how much money did Jakob make total ?

For lunch, 407 students selected chocolate milk and 929
selected regular milk. To the nearest ten, how many milks
were taken total ?

In amath book, there were 981 problemsin chapter one
and 677 in chapter two. To the nearest hundred, how many
problems are there in the first 2 chapters?
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Summe aufrunden Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
Anice cream shop sold 572 chocolate cones and 419 600 + 400 572 + 419
vanilla cones. To the nearest hundred, how many cones did 1000 991 = 1000 1 1.000
the ice cream shop sell all together?
2. 900
On Monday a shipping company sent out 178 boxes. On 200 + 700 178 + 732
Tuesday they sent out another 732 boxes. To the nearest 900 910 =900 3 1.180
hundred, what is the total number of boxes they sent out?
4. 920
A zoologist was checking the weights of two gorillas. 760 + 420 760 + 424
Gorilla A weighed 760 pounds and gorilla B weighed 424 1180 1184=1180 | g 600
pounds. To the nearest ten, what is the combined weight of
both gorillas?
J . 1.600
For anew year's party 238 red balloons and 681 green 240 + 680 238 + 681
balloons were used. To the nearest ten, what is the total 920 919 =920 7 520
number of balloons used? '
8. 800
At a hotdog eating contest, in the first round 222 hotdogs 220 + 380 222 + 382
were eaten and in round two another 382 were eaten. To 600 604 = 600 9 1.340
the nearest ten, how many hotdogs were eaten total ? '
0. 1.700
Lucawas playing his favorite video game. In the first 900 + 700 902 + 675
round he scored 902 points and in round two he scored 675 1600 1577 = 1600
points. To the nearest hundred, how many points did he
score total ?
A school had 398 red pens and 122 blue pens. To the 400 + 120 398 + 122
nearest ten, how many pens did they have total ? 520 520 =520
Over the summer Jakob earned 643 dollars mowing lawns 640 + 160 643 + 155
and another 155 dollars trimming weeds. To the nearest 800 798 =800
ten, how much money did Jakob make total ?
For lunch, 407 students selected chocolate milk and 929 410 + 930 407 + 929
selected regular milk. To the nearest ten, how many milks 1340 1336 = 1340
were taken total ?
In amath book, there were 981 problemsin chapter one 1000 + 700 981 + 677
and 677 in chapter two. To the nearest hundred, how many 1700 1658 = 1700

problems are there in the first 2 chapters?
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ﬂé Summe aufrunden Name:

L 6se jede Aufgabe.

7

1.430 840 630 1.490 1.600

1.000 800 1.300 1.330 520
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3)

4)

5)

6)
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8)

9)

10)

Anice cream shop sold 572 chocolate cones and 419 vanilla cones. To the nearest
hundred, how many cones did the ice cream shop sell all together?

On Monday a shipping company sent out 178 boxes. On Tuesday they sent out another
732 boxes. To the nearest hundred, what is the total number of boxes they sent out?

A zoologist was checking the weights of two gorillas. Gorilla A weighed 760 pounds and
gorillaB weighed 424 pounds. To the nearest ten, what is the combined weight of both
gorillas?

For anew year's party 238 red balloons and 681 green balloons were used. To the nearest
ten, what is the total number of balloons used?

At a hotdog eating contest, in the first round 222 hotdogs were eaten and in round two
another 382 were eaten. To the nearest ten, how many hotdogs were eaten total ?

Lucawas playing his favorite video game. In the first round he scored 902 pointsand in
round two he scored 675 points. To the nearest hundred, how many points did he score
total ?

A school had 398 red pens and 122 blue pens. To the nearest ten, how many pens did they
have total?

Over the summer Jakob earned 643 dollars mowing lawns and another 155 dollars
trimming weeds. To the nearest ten, how much money did Jakob make total ?

For lunch, 407 students selected chocolate milk and 929 selected regular milk. To the
nearest ten, how many milks were taken total ?

In amath book, there were 981 problemsin chapter one and 677 in chapter two. To the
nearest hundred, how many problems are there in the first 2 chapters?
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